

Cardiopulmonary resuscitation knowledge among resident physicians: comparison of internal and surgical departments

 Zeynep Buzluk,  Işın Gençay*,  Kevser Peker

Department of Anesthesiology and Reanimation, Faculty of Medicine, Kırıkkale University, Kırıkkale, Türkiye

Cite this article as: Buzluk Z, Gençay I, Peker K. Cardiopulmonary resuscitation knowledge among resident physicians: comparison of internal and surgical departments. *J Cardiol Cardiovasc Surg.* 2026;4(3):54-57. doi:10.51271/JCCVS-0078

*Corresponding Author: Işın Gençay, snyzc@yahoo.com

Received: 14.05.2026

Accepted: 01.06.2026

Published: 30.09.2026

ABSTRACT

Aims: This study aimed to evaluate self-reported cardiopulmonary resuscitation (CPR) knowledge, attitudes, and opinions among resident physicians and to compare findings between internal and surgical departments.

Methods: Participants completed a 30-item questionnaire developed according to contemporary European Resuscitation Council/American Heart Association (ERC/AHA) CPR guidelines and reviewed by experienced emergency medicine and anesthesiology faculty members for content validity. A pilot assessment was conducted before final implementation. The questionnaire evaluated self-reported CPR-related knowledge, previous training and experience, rhythm recognition, medication and defibrillation knowledge, airway-related knowledge, and peri-arrest arrhythmia management.

Results: Relatively lower self-reported CPR-related knowledge appeared more common among urology/gynecology and obstetrics, orthopedics, and otorhinolaryngology residents; however, these findings should be interpreted cautiously because detailed subgroup analyses were limited.

Conclusion: Surgical residents had significantly lower self-reported CPR-related knowledge than internal residents, particularly regarding rhythm assessment, drug administration, defibrillation, airway confirmation, and peri-arrest arrhythmia management. Department-specific, repeated, simulation-supported CPR training may be needed, especially in surgical departments with limited routine exposure to resuscitation.

Keywords: Cardiopulmonary arrest, cardiopulmonary resuscitation, resident physicians, resuscitation training

INTRODUCTION

Cardiopulmonary arrest is characterized by abrupt loss of effective cardiac activity and systemic circulation. It should be suspected in an unresponsive individual with absent or abnormal breathing and no signs of circulation. Out-of-hospital and in-hospital cardiac arrest remain major causes of mortality, and survival depends on early recognition, high-quality chest compressions, timely defibrillation when indicated, and appropriate advanced life support interventions.^{1,2}

Current resuscitation guidelines available during the study period emphasize immediate initiation of cardiopulmonary resuscitation (CPR), minimization of interruptions in chest compressions, early rhythm assessment, appropriate defibrillation, correct use of adrenaline and antiarrhythmic drugs, and structured post-resuscitation care.³⁻⁵

For physicians, CPR is not only a basic clinical skill but also a professional responsibility across specialties. Nevertheless, previous studies have reported heterogeneous knowledge levels among physicians and resident physicians, with knowledge varying according to clinical exposure, specialty, previous training, and opportunities to participate in real-life resuscitation.⁶⁻¹¹

In tertiary hospitals, resident physicians from both internal and surgical departments may encounter cardiopulmonary arrest in wards, outpatient units, emergency settings, operating rooms, and intensive care areas. However, the frequency and context of exposure may differ across specialties. Identifying knowledge gaps by department may therefore help institutions design targeted resuscitation training programs. This study aimed to evaluate the knowledge, attitudes, and opinions of resident physicians working at our hospital regarding CPR and to compare findings between internal and surgical departments.

METHODS

Ethics

After the study was approved by the Kırıkkale University Faculty of Medicine Ethics Committee (Date: 12.03.2025, Decision No: 2025.03.13), the study was conducted among resident physicians receiving specialty training at Kırıkkale University Faculty of Medicine. All procedures were carried out in accordance with the ethical rules and the principles of the Declaration of Helsinki.

Study Design

This study was designed as a single-center, cross-sectional questionnaire study. The study population consisted of 100 resident physicians: 50 from internal departments and 50 from surgical departments. Internal departments included family medicine, internal medicine, pulmonology, cardiology, and neurology. Surgical departments included anesthesiology and reanimation, general surgery, otorhinolaryngology, orthopedics, urology, and gynecology and obstetrics.

Participants completed a 30-item questionnaire developed according to contemporary European Resuscitation Council/American Heart Association (ERC/AHA) CPR guidelines and reviewed by experienced emergency medicine and anesthesiology faculty members for content validity. A pilot assessment was conducted before final implementation. The questionnaire evaluated self-reported CPR-related knowledge, previous training and experience, rhythm recognition, medication and defibrillation knowledge, airway-related knowledge, and peri-arrest arrhythmia management.

Statistical Analysis

All data analyses were performed using SPSS version 26.0. Descriptive statistics were presented as number and percentage, mean±standard deviation, or median (minimum-maximum), as appropriate. Categorical variables were compared between groups using Pearson Chi-square or Fisher exact tests. Nonparametric continuous variables were compared using the Mann-Whitney U test. A p-value below 0.05 was considered statistically significant. This exploratory study used convenience sampling, and no formal power analysis was performed. Because multiple comparisons were conducted across questionnaire items, the findings should be interpreted cautiously with awareness of potential type I error inflation.

RESULTS

Demographic Characteristics

A total of 100 resident physicians participated in the study, with 50 participants in the internal departments group and 50 in the surgical departments group. The mean age was similar between internal and surgical residents (28.36±2.77 vs. 28.78±2.48 years; p=0.545). Female gender was more frequent

in the internal group, whereas male gender was more frequent in the surgical group (p=0.016). Residency year distribution was similar between groups (p=0.726) (**Table 1**).

Table 1. Demographic characteristics of the participants

Variable	Internal departments (n=50)	Surgical departments (n=50)	p-value
Age, mean±SD	28.36±2.77	28.78±2.48	0.545
Female gender, n (%)	28 (56.0)	16 (32.0)	0.016
Male gender, n (%)	22 (44.0)	34 (68.0)	0.016
Residency year 1, n (%)	18 (36.0)	17 (34.0)	0.726
Residency year 2, n (%)	9 (18.0)	9 (18.0)	0.726
Residency year 3, n (%)	11 (22.0)	11 (22.0)	0.726
Residency year 4, n (%)	8 (16.0)	5 (10.0)	0.726
Residency year 5, n (%)	4 (8.0)	8 (16.0)	0.726

SD: Standard deviation

Cardiopulmonary Resuscitation (CPR) Training and Previous Experience

Previous CPR training was reported by 47 internal residents (94.0%) and 39 surgical residents (78.0%), with a statistically significant difference favoring internal departments (p=0.021). Prior CPR application was reported by 49 internal residents (98.0%) and 43 surgical residents (86.0%); this difference did not reach statistical significance (p=0.059). However, the estimated number of previous CPR applications was significantly higher in internal residents than surgical residents [median 27 (5-100) vs. 4 (0-100); p<0.001]. All participants stated that they knew how to recognize cardiopulmonary arrest, and nearly all stated that they knew the first action to take after recognition (**Table 2**).

Knowledge of Cardiopulmonary Resuscitation (CPR) Algorithm, Rhythm Assessment, Drugs, Defibrillation, and Airway Management

Most residents in both groups reported knowing the compression-to-ventilation ratio and shockable/non-shockable rhythms. However, internal residents more frequently reported knowing how to perform effective chest compressions (100.0% vs. 80.0%; p=0.001) and when to check rhythm during CPR (96.0% vs. 64.0%; p<0.001) (**Table 3**).

Table 2. CPR training, experience, and cardiopulmonary arrest recognition

Variable	Internal departments (n=50)	Surgical departments (n=50)	p-value
Previous CPR training: Yes, n (%)	47 (94.0)	39 (78.0)	0.021
Previous CPR application: Yes, n (%)	49 (98.0)	43 (86.0)	0.059
Estimated number of CPR applications, median (min-max)	27 (5-100)	4 (0-100)	<0.001
Knows how to recognize cardiopulmonary arrest: Yes, n (%)	50 (100.0)	50 (100.0)	-
Knows first action after recognizing cardiopulmonary arrest: Yes, n (%)	50 (100.0)	49 (98.0)	1.000

CPR: Cardiopulmonary resuscitation, Min: Minimum, Max: Maximum

Table 3. Knowledge of CPR application and rhythm assessment

Variable: Yes responses	Internal departments (n=50)	Surgical departments (n=50)	p-value
Knows compression-to-ventilation ratio during CPR	50 (100.0)	46 (92.0)	0.117
Knows how to perform effective chest compression	50 (100.0)	40 (80.0)	0.001
Knows shockable rhythms	48 (96.0)	47 (94.0)	1.000
Knows nonshockable rhythms	49 (98.0)	46 (92.0)	1.000
Knows rhythm-check intervals	48 (96.0)	32 (64.0)	<0.001

CPR: Cardiopulmonary resuscitation

Major between-group differences were observed in medication-related knowledge. Internal residents more frequently knew the adrenaline dose used during CPR (98.0% vs. 52.0%; $p=0.001$), the interval for repeating adrenaline (98.0% vs. 54.0%; $p=0.001$), which drug should be used in shockable rhythms (88.0% vs. 40.0%; $p<0.001$), after which shock medication should be administered (74.0% vs. 28.0%; $p<0.001$), and the amount of drug administered after shock (62.0% vs. 22.0%; $p<0.001$) (**Table 4**).

Variable: Yes responses	Internal departments (n=50)	Surgical departments (n=50)	p-value
Knows adrenaline dose during CPR	49 (98.0)	26 (52.0)	0.001
Knows interval for repeating adrenaline	49 (98.0)	27 (54.0)	0.001
Knows drug used in shockable rhythms	44 (88.0)	20 (40.0)	<0.001
Knows after which shock medication should be given	37 (74.0)	14 (28.0)	<0.001
Knows amount of drug given after shock	31 (62.0)	11 (22.0)	<0.001

CPR: Cardiopulmonary resuscitation

Knowledge of defibrillator pad placement, applicable energy level, perceived ability to recognize intubation during CPR, and the gold standard for confirmation of tracheal intubation was also significantly higher among internal residents than surgical residents. Knowledge about the survival implication of elevated end-tidal carbon dioxide was low in both groups and did not differ significantly (28.0% vs. 22.0%; $p=0.488$) (**Table 4**).

Peri-Arrest Arrhythmia Management and Specialty-Level Findings

Internal residents reported higher knowledge regarding unstable tachycardia management (68.0% vs. 26.0%; $p<0.001$), stable tachycardia and QRS-related vagal maneuver decision-making (64.0% vs. 20.0%; $p<0.001$), initial atropine dose in bradycardia (84.0% vs. 26.0%; $p<0.001$), maximum repeatable atropine dose (70.0% vs. 24.0%; $p<0.001$), recognition of the presented rhythm (98.1% vs. 78.0%; $p=0.002$), and treatment of the presented rhythm (80.0% vs. 40.0%; $p<0.001$) (**Table 5, 6**).

Variable: Yes responses	Internal departments (n=50)	Surgical departments (n=50)	p-value
Knows defibrillator pad placement	45 (90.0)	22 (44.0)	<0.001
Knows applicable defibrillation energy level	39 (78.0)	17 (34.0)	<0.001
Believes they can recognize intubation during CPR	47 (94.0)	24 (48.0)	<0.001
Knows gold standard for tracheal intubation confirmation	27 (54.0)	13 (26.0)	0.004
Knows how elevated end-tidal CO ₂ affects survival	14 (28.0)	11 (22.0)	0.488

CPR: Cardiopulmonary resuscitation, CO₂: Carbon dioxide

Variable: Yes responses	Internal departments (n=50)	Surgical departments (n=50)	p-value
Knows what to do in unstable tachycardia	34 (68.0)	13 (26.0)	<0.001
Knows whether vagal maneuver in stable tachycardia depends on QRS width	32 (64.0)	10 (20.0)	<0.001
Knows initial atropine dose in bradycardia	42 (84.0)	13 (26.0)	<0.001
Knows maximum repeatable atropine dose	35 (70.0)	12 (24.0)	<0.001
Knows preliminary diagnosis of the visually presented rhythm	49 (98.1)	39 (78.0)	0.002
Knows treatment needed to correct the presented rhythm	40 (80.0)	20 (40.0)	<0.001

The original thesis table contained an apparent typographical error for maximum repeatable atropine dose in the internal departments group; it was harmonized here as 35 (70.0%) according to the reported percentage and abstract result. QRS: QRS complex (Q wave, R wave, and S wave)

In exploratory specialty-level observations, relatively lower self-reported CPR-related knowledge appeared more common among urology/gynecology and obstetrics, orthopedics, and otorhinolaryngology residents. However, detailed subgroup statistical analyses were limited because of the relatively small sample sizes within each specialty.

DISCUSSION

The main finding of this single-center cross-sectional study was that surgical residents reported lower self-assessed CPR-related knowledge than internal residents despite most participants previously receiving CPR training and participating in CPR practice.

Early CPR and early defibrillation are among the most important determinants of survival after cardiac arrest. High-quality CPR, appropriate recognition of shockable rhythms, and rapid defibrillation are repeatedly emphasized in resuscitation science and guideline documents.³⁻⁶

In this context, the finding that all residents reported knowing how to recognize cardiopulmonary arrest is encouraging. However, recognition alone is insufficient if algorithm steps, rhythm assessment intervals, drug timing, and defibrillation practices are not applied correctly.

The observed difference in previous CPR exposure may partially explain the knowledge gap. Internal residents reported a substantially higher median number of previous CPR applications than surgical residents. Although surgical residents frequently work in perioperative settings where acute deterioration can occur, their day-to-day roles may not uniformly include repeated exposure to ward-based cardiac arrest algorithms, defibrillator operation, or medical management of peri-arrest arrhythmias. By contrast, several internal departments may encounter deteriorating medical patients and cardiac arrest scenarios more frequently in wards, coronary care units, emergency consultations, and intensive care-related rotations.

Our findings are consistent with prior studies reporting that CPR knowledge varies by specialty, clinical experience, and previous training. Turkish studies evaluating physicians and resident physicians have similarly shown that knowledge is not homogeneous across branches and that specific groups require repeated education.⁷⁻¹⁰

In the present study, the weakest areas among surgical residents were not basic arrest recognition but applied components of advanced resuscitation: adrenaline dosing and timing, amiodarone use in shockable rhythms, defibrillation technique, confirmation of tracheal tube placement, and tachycardia/bradycardia algorithms. These are precisely the steps most likely to affect the quality and continuity of resuscitation during real-life team-based CPR.

The specialty-level findings are clinically relevant. Urology/gynecology and obstetrics, orthopedics, and otorhinolaryngology residents had the lowest knowledge levels in several items. These departments may have fewer routine opportunities to lead resuscitation events, but their patients may still experience perioperative, postoperative, obstetric, airway-related, traumatic, septic, or hemorrhagic deterioration. Therefore, training should not be limited to departments traditionally perceived as resuscitation-heavy. Instead, institution-wide training should be adapted according to departmental risk profiles and previously identified knowledge gaps.

A practical implication of these findings is that CPR education should be repeated, competency-based, and simulation-supported. Passive theoretical sessions may not be sufficient for long-term retention or for translating knowledge into performance under stress. Short, recurring workshops focusing on rhythm recognition, defibrillator use, drug timing, airway confirmation with waveform capnography, and peri-arrest arrhythmia algorithms may improve both knowledge and confidence. Department-specific scenarios may further increase relevance and retention.

Limitations

This study has several limitations. First, it was conducted at a single center with a relatively limited sample size, which may reduce generalizability. Second, the questionnaire primarily evaluated self-reported or perceived knowledge rather than objectively measured CPR competence or practical performance. Third, although the questionnaire items were developed according to current ERC/AHA recommendations and reviewed by faculty members, a Formal Large-Scale validation and reliability analysis such as Cronbach's alpha was not performed. Fourth, the study was exploratory in nature and no formal power analysis was conducted. Fifth, multiple statistical comparisons were performed without formal correction methods, which may increase the risk of type I error. Finally, specialty-level subgroup findings should be interpreted cautiously because detailed subgroup analyses were limited.

CONCLUSION

Resident physicians from surgical departments reported lower self-assessed CPR-related knowledge than residents from internal departments, particularly regarding rhythm assessment, medication use, defibrillation, airway confirmation, and peri-arrest arrhythmia management. These findings support the potential value of repeated, simulation-supported, department-specific CPR training programs.

ETHICAL DECLARATIONS

Ethics Committee Approval

This study was approved by the Kırıkkale University Faculty of Medicine Ethics Committee (Date: 12.03.2025, Decision No: 2025.03.13).

Informed Consent

Written informed consent was obtained from all individual participants prior to their inclusion in the study. Participants were fully informed about the study's aims, procedures, potential risks and benefits, and their rights-including the right to withdraw at any time without consequence. All participants voluntarily signed a written informed consent form.

Peer Review Process

This manuscript was subject to external peer review.

Conflict of Interest

The authors declare no conflicts of interest related to this study.

Financial Disclosure

The authors received no financial support for the conduct or publication of this research.

Author Contributions

Concept: ZB, IG; Design: ZB, IG; Control: IG; Data Collection and/or Processing: ZB; Analysis and/or Interpretation: ZB; Writing the Article: ZB, IG; Critical Review: ZB, IG, KP.

Acknowledgments

The authors thank the resident physicians who participated in the study.

REFERENCES

1. Tsao CW, Aday AW, Almarzooq ZI, et al. Heart disease and stroke statistics-2022 update: a report from the American Heart Association. *Circulation*. 2022;145(8):e153-e639. doi:10.1161/CIR.0000000000001052
2. Mitropoulou P, Fitzsimmons S. Cardiopulmonary resuscitation. *Medicine (Abingdon)*. 2022;50(9):599-606. doi:10.1016/j.mpmed.2022.06.007
3. Berg KM, Bray JE, Ng KC, et al. 2023 International consensus on cardiopulmonary resuscitation and emergency cardiovascular care science with treatment recommendations: summary from the basic life support; advanced life support; pediatric life support; neonatal life support; education, implementation, and teams; and first aid task forces. *Circulation*. 2023;148(24):e187-e280. doi:10.1161/CIR.0000000000001179
4. Greif R, Lauridsen KG, Djäv T, et al. European Resuscitation Council Guidelines 2025 executive summary. *Resuscitation*. 2025;215(Suppl 1):110770. doi:10.1016/j.resuscitation.2025.110770
5. Soar J, Böttiger BW, Carli P, et al. European Resuscitation Council Guidelines 2025 adult advanced life support. *Resuscitation*. 2025;215(Suppl 1):110769. doi:10.1016/j.resuscitation.2025.110769
6. Berdowski J, Blom MT, Bardai A, Tan HL, Tijssen JG, Koster RW. Impact of onsite or dispatched automated external defibrillator use on survival after out-of-hospital cardiac arrest. *Circulation*. 2011;124(20):2225-2232. doi:10.1161/CIRCULATIONAHA.110.015545
7. Kımaz S, Soysal S, Çımırın A, Günay T. 112 Acil Sağlık Hizmetleri'nde görevli doktorların temel yaşam desteği, ileri kardiyak yaşam desteği ve doktorun adli sorumlulukları konularındaki bilgi düzeylerinin değerlendirilmesi. *Türk J Emerg Med*. 2007;7(1):18-24.
8. Sungur NS. İzmir Kâtip Çelebi Üniversitesi Atatürk Eğitim Araştırma Hastanesi uzmanlık öğrencilerinin erişkin kardiyopulmoner resüsitasyon konusundaki farkındalığının değerlendirilmesi. Tıpta uzmanlık tezi. İzmir Kâtip Çelebi Üniversitesi; 2020. <https://tez.yok.gov.tr/UlusalTezMerkezi/tezDetay.jsp?id=wuE7rEFwomdpEAVsO7kxnQ&no=lamNZu34xk9A0i5DBtp4WA>
9. Küçükceran K, Güçlü Utlu S, Tekin E. Hekimlerin mesleki tecrübe ve branşlaşmaya göre kardiyopulmoner resüsitasyon bilgilerinin değerlendirilmesi. *Akd Med J*. 2021;7(2):251-257. doi:10.53394/akd.959562
10. Bilir Ö, Acemoğlu H, Aslan Ş, Çakır Z, Kandış H, Türkyılmaz ŞE. Tıp doktorlarının temel yaşam desteği konusundaki bilgi düzeyleri ve etkileyen faktörler. *Türk J Emerg Med*. 2007;7(1):18-24.
11. Birnbaum ML, Kuska BM, Stone HL, Robinson NE. Need for advanced cardiac life-support training in rural, community hospitals. *Crit Care Med*. 1994;22(5):735-740. doi:10.1097/00003246-199405000-00006